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2. The average age of A, B and C was 25 years and that of B and C was 25 years. A’s 1 point
present age is: *

30
@ 25
45

40

3. The average of 7 consecutive numbers is n. If the next two numbers are included, the 1 point
average will *

remains the same
@ increased by 1
increased by 2

decreased by 2

4. For 9 innings, Boman has an average of 75 runs. In the tenth inning, he scores 100 runs, 1 point
thus increasing his average . His new average is *

75



5. For 9 innings, Roman has an average of 65 runs. In the tenth inning, he scores 200 1 point
runs, thus increasing his average . His average increased by *

78.5
72

@ 135

77.5

6. In a family of 8, the men eat on average 72kg of food and women eat on an average 1 point
50kg of food. The men and women are equal in number. A hungry woman named Neetu

joined the family for dinner and the average consumption became 67.How much did

Neetu eat (in kgs)? *

@ 115

80
90

85

7. The average of 5 terms is 50. If the first 4 terms are 45, 42, 119, and 84, what will be the 1 point
last term? *

56

-20

-50



8. If the average number of 8 terms is given to be 40 and the average of first 6 terms is
given to be 35.What is the average of the remaining 2 terms? *

30
@ 55
40

25

9. The average temperature for Monday, Tuesday, Wednesday and Thursday was 48
degrees and for Tuesday, Wednesday, Thursday and Friday was 46 degrees. If the
temperature on Monday was 42 degrees. Find the temperature on Friday? *

40 degree

38 degree

@ 34 degree

44 degree

10. The average amount with a group of seven numbers is Rs. 20. If the newly joined
member has Rs. 50 with him, what was the average amount with the group before his
joining the group? *

Rs. 25

Rs. 18

@ Rs. 15

Rs. 22

1 point

1 point

1 point



11. A salt manufacturing company produced a total of 5000 tonnes of salt in January of a 1 point
particular year. Starting from February its production increased by 100 tonnes every
month over the previous months until the end of the year. Find its average monthly
production for that year? *
6060
7070

@® 5550

4440

12. The average runs scored by a batsman in 20 matches is 40. In the next 10 matches 1 point
the batsman scored an average of 13 runs. Find his average in all the 30 matches? *

@ 31

29
32

28



13.The total marks obtained by a student in Physics, Chemistry and Mathematics is 150 1 point
more than the marks obtained by him in Physics. What is the average mark obtained by
him in Chemistry and Mathematics? *

150
@ 75
50

cannot be determined

14. In an exam, Amar scored 64 percent, Bhavan scored 36 percent and Chetan 44 1 point
percent. The maximum score awarded in the exam is 800. Find the average mark scored
by all the three boys? *

@ 384

364
324

404

15. Rahim bought 65 books for Rs.1150 from one shop and 50 books for Rs.920 from 1 point
another. What is the average price he paid per book ? *

Rs.20

@® Rs.18

Rs.22

Rs.16



16. Of the 3 members second is twice the first and is also thrice the third. If the average 1 point
of the 3 numbers is 44.Find the largest number. *

24

75

64

17. The average weight of ABC is 45 kg. If the average weight of A & B be 40 kg and that 1 point
of B & C be 43 kg. Find the weight of B? *

45
47

35

18. The average age of 15 students of a class is 15 years. Out of these ,the average age of 1 point

5 students is 14 years and that of the other 9 students is 16 years.The age of 15 th student
is? *

10 years

@ 11 years

12 years

13 years



19. The average of 4 consecutive even numbers is 27.Find the smallest of these numbers? 1 point

*

@ 24

26
28

30

20. The average of 5 odd numbers is 37.Find the largest number? * 1 point

35
37

39
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